10-187019 ON ¥d.L

S0-50-€20¢

T & Bridge Rail T .
§ ?F See next sheet for Detail il G 3
R i J ¥ ¥ v & o
O ® © Views C and D. = = > & & = e
0o~ <+ < - - - O N
-‘;:Ts ettt [ . et |l [ (\é\\.\oo

ee Detgai
o 6-3" Typ / ] o ‘ <@
- Long RaiISectionﬂ | L/ r—Long Rail Section , A
: !
A3 ol il [l ] [ [ A [l (R} ] [l [l
[ A T T T T Y I I 1 rrrrrrrrrrrrrrrrrrrrrit
Plan View
B - Elevation View
1/2" Joint in Curb and Deck
o 3
‘ ’ TXDOT Type D Asphalt b 101/
" Deck i
2-1/2 1 ‘\ _*
; Walb 18" —1t—p L 11"
SDCSEI I- l&w L Existing Concrete ]
Typ 2 places 1" Joint in Tubing Rails I Ul S§Ct||01n_ EO-B
- 54" 72" —— cale 1

1a. All steel components, including hardware and fabricated “‘}-r%):fss/‘ftgion Ph?s?gglsgjeecﬁﬁ{?tl%i\?ig?on )
compenents, shall be galvanized. > AN lnstin’}t‘:; Proving Ground

1b. Threads not shown on Bolts, Threaded Rods, etc. for clarity. Project #610481 PA 3-Rail Bridge Barrier 2021-06-17

Drawn by GES | Scale 1:120

Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR Thrie Beam, PennDOT - Moran\Drafting, 610481 \without Thrie-beam\610481 Drawing

Sheet 1 of 10 Bridge Rail

INHLSAS HAIIAVI HOdIId 'TIVH-¢ Vd LOU NNAd 'V XIANAddV



10-187019 ON ¥d.L

S0-50-€20¢

Detail Views

Detail C
Scale 1: 10
Typical at all joints. Thrie-beam
rail not shown for clarity.

2a. All steel compenents, including hardware and fabricated
components, shall be galvanized.

2b. Threads not shown on Bolts, Threaded Rods, etc. for clarity.

Tubing Joint Section Bridge Post Blockout

x3
Nut, 5/8 hex ABB3
31-3/8" Round Head Bolt, 5/8" x 10 12"
A307
30-5/8" ¢ — é/ Typ x 3 each Post
{
23 S e X
{
15-3/8" N e
( i Nut, 7/8 A563 heavy hex
h E?Washer. 7/8 F436
8k I S —— _
ks

0" 5— L“‘-H

Detail D
Scale1:10

= Texas A&M Roadside Safety and
A Transportation Physical Security Division -
Al [nsiitute Proving Ground

Project #610481 PA 3-Rail Bridge Barrier 2021-06-17
Drawn by GES  Scale 1:120 Sheet 2 of 10 Detail Views

Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR Thrie Beam, PennDOT - Moran'Drafting, 61048 1\without Thrie-beam610481 Drawing



10-187019 ON ¥d.L

S0-50-€20¢

Bridge Post and Blockout - 1-3/4"
& B — | o
D314" Typ x 5 L i
AN [ e |
20" TN | P
o E
— Y 5 i |
| I
&;\ I 2304 © @ ta -
| .
i e Y 5.0r16"
oY s-016" | ‘ | !
‘  e—ho———
1
° i S Y 1038
? T 103" ® ] ﬁ_‘p 10" :
? | \ﬁ Y |
i LPY /'(J 14-3/16"
(7}
O——Y 14-316" Post \ O
4 ‘ Plan View @1 Typx 4 ;
]
\/ i -@O- LT
@ 34" Typ x 5 — ‘
o | T ® front flange only
D i !
WBX20 x 22 3/8" N . ¥ .
ASTM Ag92 . H I T ]
R EYS it
Fiﬁ N H Post
o) T o sl 1 Elevation View
b 3a. Galvanize all steel components after
Bridge Post Blockout fabrication is complete.
6" x 6" x 22" Timber 3b. All welding must be performed by certified

Elevation and Isometric Views
AASHTO M168

Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR

welders using industry standard practices.

/ _’1_'exas AeM
ransportation
v Institgga Proving Ground

Project #610481 PA 3-Rail Bridge Barrier 2021-06-17
Drawn by GES Scale 1:5  Sheet 3 of 10 Bridge Post and Blockout
Thrie Beam, PennDOT - Moran'\Drafting, 61048 1\without Thrie-beam\610481 Drawing

Plate, 12" x 1" x 12"

ASTM A709 Grade 50 Roadside Safety and

Physical Security Division -

Post

Isometric View



10-187019 ON ¥d.L

S0-50-€20¢

6-1/8" 1 15.03
—

t ST

Rail Details

=<I'

@ e
- ha @ % Notch and bend tubing. Do not cut traffic side face.
- =t o« © . . .
@ A o b5 Use complete joint penetration groove weld. Grind
- st [ |t F flush on cutside face. Weld backing is required.
: ¥ \ . Transition Rail Section
— - = = W = = = HSS 4% 3 x 3/16

D3/4" Typ ASTM A500 Grade C

¥ ¥ : .
= @ iy = Y
- @ b & >
<t (=] o _t o~ =
N - - ~ - o

; E 5
<~ i P
! ) !
[=) 2! o™ =
- o e

— = = 71 . ,
j End Rail Section

@ 314" Typ HSS 4 x 3 x 3/16
ASTM A500 Grade C

J
- b3 Typ/ Leng Rail Section

HSS 4 x 3 x 3/16
ASTM A500 Grade C

Section J-J

Scale 1:5
Typ all Rail Lengths

Roadside Safety and

= Texas A&M ) afety anc
A Transportation Physical Security Division -
AN [nstitute Proving Ground

4a. Galvanize all compenents after fabrication is complete.

Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR Thrie Beam, PennDOT - Moran'Drafting, 61048 1\without Thrie-beam\610481 Drawing

Project #610481 PA 3-Rail Bridge Barrier 2021-06-17
Drawn by GES = Scale 1:40

Sheet 4 of 10 Rail Details



10-187019 ON ¥d.L

S0-50-€20¢

Bridge Rail Joint

;f & ¢
o — (=]
—= K
|
[
K . . .
- Tubing Joint Section
HSS 3-1/2 x 2-1/2 x 3/16 x 24"
ASTM A500 Grade C
|
|
v
T H\
@ 1/4" Driving Fit Pin
172"
Section K-K
Scale 1:2 / Texas A&M Roadside Safety and
Transportation Physical Security Division -
v Institl':it‘:e Y Proving Groyund
5a. Galvanize after fabrication is complete. Project #610481 PA 3-Rail Bridge Barrier 2021-06-17

Drawn by GES Scale 1:3 Sheet 5 of 10 Bridge Rail Joint

Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR Thrie Beam, PennDOT - Moran'Drafting, 61048 1\without Thrie-beam610481 Drawing



10-187019 ON ¥d.L

S0-50-€20¢

Concrete

See next sheet for Section View

; ; See Plan View below
See sheet 1 for Joint locations. N _\
) A

4\ »I O v v ‘I O v v O O O v O | C

next sheet M=

¢ of Post—m4————See 6a ¢ of Post
&

= @ o — i
[ap] w0 © P~ M~
- - - o |

—11

Male End Anchor

I + 3 \‘ﬂ 3 B+
e I||

| s
TT

= q.
T T =TT Tty

UM

-t it ’L L -
N - e B B _ Scale1:20
= - =) - o Typical all Post spaces
c ~ - - =
o S7 Bars . &
o <
T° - R - - .
o o o r~ & ) :
@ P~ w [ap] [a] -~ (=]
*i:—‘, Bl =Y Rl Rl Bl Rl
- >
S -
— =
| - O
™ e o N
{ 1 i I q A . @ I 1
. i | B T \
E 4 d 4 i 4 | ;}
C__ 1 et | et ettt - Il lierie === —3T
Detail Nt gt da s ol o #:;3
Scale1:20 I bRy WU gl i . __li '
Typical each joint =g || W =Fg=f 7 F-F 7 g

Field Side
118
::::::::j 7.1/2"
==+ el
T~ 0"
‘L#a Hook Bar 1331

#4 Female End Anchor Plan View
Traffic and Field Side  Scale 1:20 - Field Bend traffic
side longitudinal bars in curb and
set End Anchor bars at angle to
maintain coverage. Some bars
not shown here for clarity.

Female End Anchor
for 7/8" Anchor Bolts

Female End Anchor
for 7/8" Anchor Bolts

6a. #4 End Anchor and U-bar spacing is typical in each Post space
except at ends and joints (See Detail N). Adjust Deck reinforcement
as needed to avoid conflict with Anchor Bars and S7 Bars.

= Texas A&M Roadside Safety and
— Transportation Physical Security Division -
Al [nsiitute Proving Ground

Project #610481 PA 3-Rail Bridge Barrier 2021-06-17
Drawn by GES  Scale 1:100 Sheet 6 of 10 Concrete

Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR Thrie Beam, PennDOT - Moran'Drafting, 61048 1\without Thrie-beam610481 Drawing



10-187019 ON ¥d.L

S0-50-€20¢

Rebar Details
See next sheet for Detail Q #6 Hook Bar @ 6"
57 Bar - See previous sheet.
@1/2" (#4) Bars in top mat,

@ 10-1/2" unless otherwise indicated Curb—

2-1/2"
#5 Long Anchor Bar (see 7a)

2-1/2"
{ 18" +|¢ . 2-1/2" cur
L -y

/ sy ‘ﬁ} L P 5/8" (#5) Bars @ 7" t 2" cvr
AW #6 L-bar @ 7" "

Bottom Mat 21

[ 10-1/2"

““““““““““““““““ .l
L#s bar, bare steel J \ ] \_W S ?
#5 Short Anchor Bar @ 18" #4 longitudinal bars (4) in  See 7f orking Sla

Wall as shown, bare steel S P
L " : ection M-M
#5 Short Anchor Bar @ 18 See next sheet for Detail View.

0,‘
54 ¥
156" X

7a. Secure the Anchor Bars in existing concrete with Hilti HIT-RE 500 V3 epoxy
according to manufacturer's instructions, @ 18" spacing, with 10" embedment.
7b. Rebar lap is 37" for #6 bars, 31" for #5 bars and 25" for #4 bars.
7c¢. All rebar is grade 80, and epoxy coated unless otherwise indicated.
7d. The concrete strength shall be as follows: Working Slab: minimum 3000 psi.
Wall and Deck: 4000 psi. Curb 3500 psi. Chamfer corners 3/4" each way as shown.
. 76.', Rebar placement dimensions are to centerline unless otherwise indicated by % Texas AGM Roadside Safety and
cvr " (cover). /" Transportation Physical Security Division -
7f. One mat of #5 bars @ 12" each way in Working Slab, with 3" cover at bottom. AN [nstitute Proving Ground
7g. 1" (3/4" each way) chamfer on edges of Deck and Curb. Project #510481 PA 3-Rail Bridge Barrier 2021-06-17

Drawn by GES = Scale 1:25 Sheet 7 of 10 Rebar Details
Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR Thrie Beam, PennDOT - Moran'Drafting, 61048 1\without Thrie-beam\610481 Drawing



01 10-187019 ON ¥d.L

S0-50-€20¢

w
<:‘_<—_’_‘—T A449 Threaded Rod, @7/8" x 14"

Male End Anchor
Field Side

Nut, 7/8 A563 heavy hex, ASTM F563—+7 7.7,

Male End Anchor\ PP
Traffic Side "

/— @314 #6) rebar (x 4)

L 7
Female End Anchor ::::.:::._ ":.:.:_:_
for?!B"AnchorBoIts\‘:.'.:.:."““_: s

Female End Anchor 7 aS "

#4, Traffic Side \ i
- - &0
2-1/12" cur W S
| ™~—Female End Anchor
#4, Field Side

/|7—Female End Anchor
for 7/8" Anchor Bolts

(Y
7/ LA

S7 BarJ

#6 Hook Bar—
-t
&
&

8a. Prior to constructing curk and deck, anchor

Detail Q bolts shall be installed with either a template or
Scale 1:5 - o : i ™ : actual post w/baseplate installed to ensure proper
See previous sheets for & 3 « p 3 © anchor bolt alignment and placement.
End Anchor spacing. iy & & N %
= Texas A&M Roadside Safety and
A Transportation Physical Security Division -
Al [nsiitute Proving Ground

Project #610481 PA 3-Rail Bridge Barrier 2021-06-17
Drawn by GES = Scale 1:20 Sheet 8 of 10 Curb Details
Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR Thrie Beam, PennDOT - Moran'Drafting, 61048 1\without Thrie-beam610481 Drawing



10-187019 ON ¥d.L

I

S0-50-€20¢

- 79" -
L~
Q 4-112" —
B a-1/2" #6 Hook Bar
5-1/2" —lat——p]
73" P
26" 1
i 7 ]
#6 L-bar
@4-172"
ot 59" >
v U 21" - ﬂ
B3/ - #5 Long Anchor Bar
bare steel b 3-3/4"
14"
v B2
[ 25"
o3 - - . i - 18—
%« 45.0° A\
@ .” "
#4 U-b e
-bar
2 #5 #5 Short Anchor Bar || 12 |
bare steel D 5/8" — | let—
@ 3/4"
7 - 40 .
f ‘
S7 Bar Az _1 O5/E" ! e
bt G" J
/ Texas A&M Roadside Safety and
Transportation Physical Security Division -
v Institgi% Y Proving Groyund
9a. Allrebar is grade 60, and epoxy coated unless otherwise indicated. Project #510481 PA 3-Rail Bridge Barrier 2021-06-17
Drawn by GES = Scale 1:10 Sheet 9 of 10 Rebar Bends

Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR Thrie Beam, PennDOT - Moran'Drafting, 61048 1\without Thrie-beam610481 Drawing



4! [10-187019 ON ¥d.L

S0-50-€20¢

7/8"-9 Threads
5/8"-11 Threads

g" 8-3/4"

N

PA4-1/2" 4-1/2"

B34 ( B 12"
TL 1 @1/2"\/
¢2"
t [/ t - e * 8-1/2"

Female End Anchor Female End Anchor

(for 7/8" Anchor Bolts) #4, Field Side
Dayton Superior #6 D102A Dayton Superior D102A ||

90° Hooked Dowel Bar 90° Hooked Dowel Bars /_|

Threaded End
(5/8"-11 threads)
5/8"-11 Threads Male End Anchor
Traffic Side
Female End Anchor 8.3/4" Dayton Superior
#4, Traffic Side /I\ #4 D101 DoweHn, bent as shown

Dayton Superior D102A 90° Hooked Dowel Bars 4"

172" @
P2 —w ' —% | !/ /

|< 25" -

8-1/2"
Male End Anchor

10a. All rebar is grade 60, and epoxy coated unless otherwise indicated.

Field Side
Dayton Superior
#4 D101 Dowel-In = Texas A&M Roadside Safety and
— A Transportation Physical Security Division -
u\ Al |nstitute Proving Ground
Th:eadEd Eno Project #610481 PA 3-Rail Bridge Barrier 2021-06-17
(5/8%-11 threads) Drawnby GES | Scale 1:5 Sheet 10 of 10 End Anchors

Q:\Accreditation-17025-2017\EIR-000 Project Files\610481-SMGR Thrie Beam, PennDOT - Moran'Drafting, 61048 1\without Thrie-beam610481 Drawing





